
 

Original     May, 13    Page 1 of 3 

 www.trailarmor.com 
 

Installation Instructions for Polaris Ranger RZR/S/4 Rear Window Dust Shield Kit 

 

 

 

 

 

 

Tool List 

 

Phillips Head Screwdriver            3/8” Wrench                 Soft Hammer         7/16”Wrench 

          #27 Torx bit 

 

 

Carefully remove seats and tops and place them to the side. For the RZR/S, you will remove 

both seats, for the RZR4, you will need to remove rear seats only. 

 

To Install Lower Dust Shield 

 

A. Locate the black lower dust shield.  The textured side will face the bed and the smooth side will 

face inside. Using 2 -  1 ½” vinyl coated clamps, secure the panel to the roll cage using the 

supplied ¼ - 20- x 5/8” torx truss screws and ¼ x 20 nylock nuts. Finger tighten only. Next take 

the 2 – 1 ¾ vinyl clamps and secure the panel to the outside of the roll cage. See Picture 1. 

Adjust lower dust shield to where it is centered on rollcage.  When centered, tighten ¼ - 20 

truss screws.  Next, use the supplied #10 x 5/8 phillip pan washer screws to attach the lower 

part of the panel.  See Picture 2. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

To Install Upper Rear Window 

 

A. Carefully lay rear window panel on flat surface; peel back the protective sheeting around the 

outer edges only enough to reveal the pre-drilled mounting holes.  Do not peel the protective 

sheeting completely at this time!  See picture 3. 

 

 

 

Warnings and Product Liability Disclaimer 

 
This product is intended to be used as a cosmetic accessory under normal equipment operation and should not be depended upon or used 

as a safety device.  Manufacturer assumes no liability for personal injury or equipment damage as the result of use or installation of this 

accessory.  User assumes all risk.  User should carefully read all instructions prior to installation. 
 

1 ¾” clamp 

1 1/2” clamp 

faces down 

on lower 

panel 

Picture 1 Picture 2 



 

Original     May, 13    Page 2 of 3 

 www.trailarmor.com 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

B. Insert supplied rubber grommets into the pre-drilled holes. See picture 4. Properly installed, the 

grommets’ shoulder edges are uniform on both sides of the window.  See picture 5. 

 

 

 

 

 

 

 

 

 

 

 

 

 

C. Place large white plastic sleeve spacers into rear window panel.  See picture 6.  With help, 

place window panel against the rear of the roll cage.  The top of the window should center the 

horizontal bar on the roll cage.  See Picture 7.  Using the 1 ½” vinyl clamps, install the rear 

window on the horizontal roll cage bar.  Insert the 10-24 x 1” screw through the supplied fender 
washer, then into the plastic sleeve space grommet, through the other washer and into the strap 

clamp. See Picture 8.  Place nuts over screws and finger tighten.  Follow same process to install 

the 1 ¾” clamps on vertical bars. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

Picture 3 

Picture 6 Picture 5 

Center top of rear 

window on roll cage 1 1/2” 1 3/4” 

Picture 7 

Picture 4 



 

Original     May, 13    Page 3 of 3 

 www.trailarmor.com 
 

 

 

 

 

 

 

 

 

 

 

 

A. Adjust windshield to where it is centered on the roll cage and overlapping lower dust panel. 

The RZR/S and the RZR4 clamps on the outside edges are oriented slightly different - See 

Picture 9 for RZR/S, see Picture 9A for RZR4.  Also on the RZR/S, you will use 1 ¾” clamps on 
the outside edges; for the RZR4, you will use 1 1/2” clamps. You will use 1 ½” clamps on both 

the RZR/S and RZR4 for the remainder of the installation. See Picture 10. Carefully tighten 

screws.  Do not over tighten clamps. Clamp ends should not touch or you will eventually 

break the rear window. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Enjoy!  Any questions, contact Trail Armor at 662-462-4222 

Picture 8 

Washer  

Spacer/Grommet inside hole in glass 

Washer on outside of glass 

Nylock Nut 

Washer inside glass 

Picture 9 

Picture 9A 

1 1/2” 

For RZR4 

1 3/4” 

For RZR 

1 1/2” clamp 
faces up on 

upper panel 

Picture 10 

1 3/4” 

For RZR 

RZR/S RZR4 


